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Plan : dN_ch/deta using INTT tracklets in ZF

« Zero field data was taken in July 8t RunNumber (ZF)|  Nevents
« 2M events 20864 417,729
« PHENIX 1stmultiplicity paper used 130k events 20866 26,404
20867 317,047

20868 288,481

20869 550,123

20878 89,238

20880 171,760

20881 31,736

20883 94,249

20885 357,343

Sum 2,344,110
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DSTARBVIFICHOt~ v 7 % B FF
/) FundAll_AnaTutorial INTT.C ~ (§;reen of =y pessibte get reconstruction

EiData *inttraw = new InttEData("Inttraw"”,
// "/sphenix/lustre@l/sphnxpro/commissioning/INTT/tmp/beam inttall-00020444-0000 event base ana.root" // FF
//  "/sphenix/lustre@l/sphnxpro/commissioning/INTT/tmp/beam inttall-00020864-0000 event base ana.root”
// "/sphenix/lustre@l/sphnxpro/commissioning/INTT/tmp/beam inttall-00020869-0000 event base ana.root" // ZF
//  "/sphenix/lustre®l/sphnxpro/commissioning/INTT/tmp/beam inttall-00020885-0000 event base ana.root" // ZF
// "/sphenix/lustre@l/sphnxpro/commissioning/INTT/tmp/beam inttall-00020766-0000 event base ana.root”
//  "/sphenix/lustre®l/sphnxpro/commissioning/INTT/tmp/beam inttall-00023613-0000 event base ana.root" // FF
"/sphenix/user/hachiya/INTT/INTT/general codes/hachiya/InttEventSync/beam inttall-00020708-0000 event base ana.root"
)i
inttraw->SetHotMapFile("hotchannel run25566.txt");
searegisieroubsyeteniintirau)
//InttDummyData *inttdummy = new InttDummyData("InttDummy");
//se->registerSubsystem(inttdummy) ;

Hotmap 7 7 1 JL
InttRawData.cc FELIX, ladder, chip, chan, (Hit)

f{h T Hot(rawdata. feli '

Erlhotaan. Aottt (oLix tariee, 6 16 126 3374
rawdata.chip+1, O 13 126 6011

. rawdata.channel)) @15 126 1577
cout<<" hotchanel : "<<rawdata.felix server<<" "<<rawdata.felix channel<<" " O 1 14 126 2044

<<rawdata.chip<<" "<< rawdata.channel<<endl;

continue; © 1 15 126 2475
S @ 1 16 126 2571
@ 1 17 126 1536

w1 18 196 15466

cout<<" ch: "<<rawdata.felix server<<" "<<rawdata.felix channel<<" "
<<rawdata.chip<<" "<< rawdata.channel<<endl;

hit = new TrkrHitv2;

2023/8)% ->setAdc (DAC[adc]) 6
hit set container itr->second->addHitSpecificKey(hit key, hit);




X Dy b~y 7 in RUN25566

T

INTTO

[ ship {0-13'2) channel (0-127) vs ladder |

—

INTT3

| chip i0-13°2) channel [0-127) vs ladder |

INTT?2

INTT1

2 channel (0-127) vs ladder

=127y vs ladder

2] channel [0

[ ship jo-13

[ ship io-13

_1 ] __L __L __— -_ _—__

OV b AR

L LT i i

wen ARl

ﬁ __ L _-_ ___ _; 1]

' Tt AT
'

T !

AR it !

___.__.____E_____;_____u_ﬂ;*____ Wil t___:

___,___L n

e
it

>

INTT7/

| chip (0-13°2) channel {0

INTT6

INTTH
2] channel [0-127) vs ladder |

) channel [0-127) vs ladder |

INTT4

| chip (0-13°2) channel [0-127) vs ladder |

vs ladder |

127)

| chip (0-13

| chip (-13

LT IET Plu
il =
(-

©

-

O

-+

o

T

~

-

(@)

-+

% o
______E_E_E_____...__E____,__51 <
=

()]

S

/epfs/mnt/gpfs02/sphenix/user/hachiya/

2023
°

e JaeinOO— Kz {E-> TIE- 7=



nHits per channel in cosmic run (25566)

« Run 25566 (cosmic)
c ChmdD b v ML

h_nhitchall 3 N, ZWWCht H B
= nHit /channel "¢ Hot > 2000 - - \_, \ - .
105%_ 103; ¢ L\_ — ‘T\ Cj:2000> 0)7_ )V /
- Iz Ry b E LTz,
1045— ?
103;— :
102;—
ol

1EWIMMMMMMMH .|||I. | |l.|.|l. .II|AIIL 11 Y O I 1 IO B S T

0 100 200 300 400 500 600 700 800 900 1000




Hotmap in RUNZb560
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RUNZ556006
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Hitmap w/ hot channels
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ChiplIDAY9 71T L5 (run255606)

Event _base_merged

a—Fk
« chp =chp % 26 + 1;// p->iValue(i, "CHIP_ID") starts from 0, but our

definition of chip_id starts from 1 and ends at 26. | added +1 to

should be (chip from felix is for 1-52)
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hit base intt4

chip_id
h
[~ . Entries 6.882847e+07
3 J save 2 convert it.
E_ ° —
- « chp = (chp-1) % 26 + 1 or
= « chp = (chp<=26) ? chp : chp-26;
% | mmsaerosemERsT
B 4f_|_1—‘_r_ 1 .
SiniwisiiTrTe ey Event base inttd
0 5 10 15 20 25
chip_id
h
- o - Entries 1.3340770+08
ol -
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F— | L—
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chip_id
h

» I Entries 5.999947a+07
| — Mean 6.69
E Std Dev 3.783
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